Tree- 2

3 groups
Node O
Category % n
failure 12.80 75
neither failure 26.62 156
nor success
| success 60.58 355 |

Total (100.00) 586

Q13 How many sessions have you had? Pair 1
Improvement = 0.0077

Between 5 and 10; Less than 5 Between 11 and 15; between 16 and 20
Node 1 Node 2
Category % n Category % n
failure 16.15 57 failure 7.73 18
neither failure 28.90 102 neither failure 23.18 54
nor success nor success
success 54.96 194 ‘ success 69.10 161 ‘
Total (60.24) 353 Total (39.76) 233
Q1: What is your work situation? ‘ Q1: What is your work situation?
Improvement = 0.0035 Improvement = 0.0066
Paid employment / Pre-retired/ Pensioner, Retired / Pre-retired / Pensioner /

Unemployed looking for work, Sick

leave / Invalid Employed (paid work) Sick leave / invalid Unemployed looking for work, Student

Student (non employed) Working in the

h|ome | | (non employed) Working in the home
Node 3 Node 4 Node 6 Node 5
Category % n Category % n Category % n Category %
failure 17.22 47 failure 12.50 10 failure 9.02 11 failure 6.31
neither neither neither failure neither
failure nor 31.14 85 failure nor 21.25 17 31.15 38 failure nor 14.41 16
nor success
success success success
‘ success 51.65 141 success 66.25 53 success 59.84 73 ‘ ‘ success 79.28 88
Total (46.59) 273 Total (13.65) 80 Total (20.82) 122 Total (18.94) 111

Q9: Do you attend or have you ever attended a
catalan course for adults

Improvement = 0.0024

I not now but I have done so Yes I attend them - no, never
Node 7 Node 8

Category % n Category %

failure 14.06 9 failure 3.45 2
neither failure 34.38 22 neither failure 27.59 16
nor success nor success

success 51.56 33 ‘ success 68.97 40
Total (10.92) 64 Total (9.90) 58

Noves SL. Revista de Sociolinglistica
http://www.gencat.cat/llengua/noves
Spring-summer 2005



